N = 0l & At & Ml A

20158 = =& 2 3 LESH JIEISEAH ALAE

M AIEMY 2435

SHANZAE L
=l =
9l AIRISIZAIM O 2 X2 (el @2)

SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
A AR 2 785,028 815,870 £30,842
N&EHY 2435 409,897 427,497 A17,600
LN R T 409,897 427,497 A17,600
ARIBIZ ST e 368,477 384,077 £15,600
201 et HH| 298,300 312,700 A14,400
02 2B 2| 280,700 295,100 14,400
OgstalE L+ A 6,350,0002 6,350 7,850 A1,500
OAYNEFUBAL42 33 02 0 1,000 A1,000
OFIINE SHFHG 242 FH 900,002 900 3,600 A2,700
CEEIPIESET ZE 3,000,000% 3,000 6,000 £3,000
O=%I|Z2IHl A 4,800,0002 4,800 6,000 A 1,200
OYZ2ME BTDE U 22
A3 10,000,0008 10,000 15,000 A5,000
401 AIEHIL 2 THHI 28,200 31,000 £2,800
01 Al 28,200 31,000 £2,800
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X A#H 2,000,002 2,000 3,000 A 1,000
O B2 sHeth 2 A 4,200,002 4,200 6,000 A1,800
405 TH&HF St 29,600 28,000 1,600
01 AU 2 E 5 St 29,600 28,000 1,600
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A 10,800,0002 10,800 12,000 A1,200
OXst ARA RSI 7Y 1,400,000 «2CH 2,800 0 2,800
Hau 2332 el 41,420 43,420 A2,000
201 YLer2 A H| 12,500 14,500 ~2,000
01 Ak 2 el 2,000 4,000 £2,000
OMel+YH ASAZIY  HF 2,000,000 2,000 4,000 A2,000
SSTAL =5 225,604 227,104 A 1,500
SSTASY FH=BL 225,604 227,104 A 1,500
2s% guzel 225,604 227,104 A 1,500
401 A HI L 2 THHI 83,500 90,000 A 1,500
01 Al Hl 83,500 90,000 A 1,500
OX-HYE B L SHNBAEL BM
ZE 61,000,0002 61,000 70,000 £9,000
OSSH 25 BEH 2Y2 &3 2
AH 8,500,000% 8,500 10,000 A 1,500
OSSH 224 AR HIIIEY T
9,000, 0002 9,000 0 9,000
HHSY AL (AEA L) 149,527 161,269 A11,742
o122 I (Al &AA) 98,447 110,189 A11,742
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ZFOIAHI (Al EAIS L) 98,447 110,189 A11,742
101 @124 dl 98,447 110,189 A11,742
03 RIAHAZ 22+ 98,447 110,189 AN11,742
OFAr2teler e 116,267 128,009 AN11,742
-Jles Z & 982,180 x4H 128 47,145 55,335 A8,190
A= Z & 982,180 x4H 43 15,715 18,448 A2,733
-Z 2 F Ol Z & 589,300 x4H x23] 4,715 5,534 A819




